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QUESTION 1

Which of the following correctly describes the results of normalizing the following XML Document rec element by
Exclusive XML Canonicalization?

[ZML Document]

<arroot ¥mlns:a="uarn:¥mwlmaster:ia's>

<h:rec xmlns:b="urn:=mlmaster:2">
<h:field />

</hirecs

<fairoots

Correct Answer: B

QUESTION 2

Which of the following describes the most correct call order of the ContentHandler interface methods when parsing the
following "XML Document" using a validating SAX parser? This question reflects line feeds within the XML Document.

[XML Document]

<?¥ml version="1.0"72>
<!DOCTYPE a [

<!ELEMENT a (#PCDATL | h) *»
< !ELEMENT kb (#DCDATA) >

1=

<R

<hro/hr

</ >

A. startDocument - startElement - ignorableWhitespace - startElement - characters - endElement ignorableWhitespace
-endElement - endDocument

B. startDocument - startElement - characters - startElement - characters - endElement - characters endElement
-endDocument

C. startDocument - startElement - startElement - characters - endElement - endElement - endDocument

D. startDocument - startElement - startElement - characters - endElement - ignorableWhitespace endElement
-endDocument

Correct Answer: B
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QUESTION 3

Use DOM programming to create XML according to the schema defined by NewsML (portions modified for this
question). Push the Exhibit Button to load the referenced "XML Document".

[EML Document]
<MNewsML >
<MNewsItem:
<ContentItem:>
<DataContent></DacaContents
</ContentItems
</NewsItem:
</ MNewsHLx>

Load the "XML Document" and update the XML according to the method shown by "DOM Processing". Select which of
the following correctly describes the results of performing a validation check on the created XML against the schema
("DTD" and "article.dtd"). Assume that "article.dtd" can be parsed normally during validation. The existence of a
document type declaration during validation is not reflected.

[DOM Processing]
Create XML using the following method.

Document output = createXZMLi{ doc ):
The wdr iglbile duc hete ceferences Lhie Docwoeol insbtoance ol chie lusded EFNL Docwoenl .

Lzzume no execution Brrors.

public static Document createZML | Document doc )

Elenent contentElement = [(Element)doc.getElementsbByTagiiame |

"DataContent'™) .item(0) ;
Elenent articleElement = doc.createElement | "article™ ) :
contentElement.appendChild| articleElement ) :
Text textMode = doc.creacteTextlNode | "Start XML Master: Professional Exam™ ) ;

art_cleElement.appendChild| textNode ) ;

recurn dooc:

b

[TaTT]

<!ENT.TY % article SYSTEM Marticle.ded™s
rarticle;

<I!ENTITY % data " (Encoding | DataContent ) 27>
<'ELEHIENT ContentItem | %data; >

<!ATTLIST ContentItem Href CDATL #HIMPLIED =

SIMELERENT Encoding fdate; =
<!ATTLIST Encoding MNotation CDATL #REQUIRED »

<IELEHENT DataContent ALNT:>

< !ELEOENT NewslItem (Contentltem®)x>
<!ELEHENT NewsHL (Hewy=sItem+) >

[article.dcd]
<!ELEHENT article (#PCDATL) >
<VATTLIST article titcle CDATA EREQUIRED >

A. The created XML does not include required attributes; therefore, is not valid against the schema

B. The created XML has an illegal attribute value; therefore, is not valid against the schema
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C. The created XML does not follow element type declarations; therefore, is not valid against the schema
D. The created XML is valid against the schema

Correct Answer: A

QUESTION 4

Process the following "XML Document" according to the method shown by "DOM Processing," and output "article” (by
print method). Select which of the following correctly describes what should be in (1) for "DOM Processing"

[ZML Documment]
<oonsentrarticled/contents>

[DOM Processing)
Process ZML using the following method.
printXML( daoco )
The ver igbile duc here pelfereaces Lhe Docwanenl ipsLlaopce of Lhe lodaded XML duc anenl .

public static wvold princEZML({ Docuwent doo )
Element conten: = doc.getDocumentElement (] ;
aystem.out.priatl] —————— (11 —————- :

H

A. content.getText()

B. content.getNodeValue()

C. content.getChildNode().getNodeValue()
D. content.getFirstChild().getNodeValue()

Correct Answer: D

QUESTION 5

Push the Exhibit Button to load the referenced "testml.xsd".
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[testml. x3d]
<¥3:i=chema
xmlns:xs="http://wrw.wd.org/ 2001/ IML3chema >
LHElelement name="IestiL" CLYpESTLeEdtmlliype™ />
<xs:icomplexType aame="testmlType'>
<H3:3equence:
<xa:element —ef="perason”
maxXlcours="unbounded"™ />
<fxs:i1s3equencex
</®s:icomplexTyper

<xzielement name="person’ type="peraonType’™ o
<xs:complexType aame="personType":=
<X3:Seqguences
<xa:elewment sef="name" />
<us:element zef="phone"™ />
</ %31 8equence>
</wa:complexTyper

<ys:element name="name" type="xs:string"™ />
f<xz:ielement name="phone" type="xs:scring™ S
</ws:ischemasr

Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document (“testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document” will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemalLocation attribute.
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[EML Document]
<TestML>
<pErIon:>
<name>John Smith</ nemes
<phone>03-0000-29929</ phone >
<pellPhone>000-1111-2222</cellPhones
</ personx
</ TestML>

(" A& <ws:schema xmlns:xs="hctp://wuw.ws.org/2001/XNLSchema™:
<H5:import schemalLoocation="testml.xsd" [f>
~Xs: complexType name="personType" >
<xS:sequences
<Hg:element ref="name" />
<xs:element ref="phone" />
<xg:element ref="cellPhone" />
</ w31 sequencex
< fxs:complexType:-
<xarelement name="cellPhone™ type="wxz:istring™ />
</ ®s:3chemar

" = <#s:ischema ¥mlns:=s="http://vuw.w3l.org/2001/ XML 3chemat >
<x5:incinde schemalLocation="testml.xsd" [f>
XK= :complexType name="newPersonType" substitutionGroup="personType'">->
XS 3equUEnces>
f<xg:element ref="name=" />
fxs:element ref="phone" />
fxg:element ref="cellPhone™ />
</ wasequences
<frsivumplexType-
<xs:element name="cellPhone”™ cype="uxs:scring” />
</ xa:achemas

£ S <x3iachema xmlns:xs="http://www. w3 . org/ 2001/ XNLSchema' >
cHz:redefine schemalocation="testml.x=d":>
<xz:complexType hawe="personType’>
<¥SicomplexContent>

fxZiextension base="personType">r
<¥8: SEqUENCE:
= I

<xs:element ref="cellFPhone™ />
</ HE:sequencer
£/ HsexXtensions
</ wa:icomplexContent >
</us:complexTypesr
</Hs:redefiner
<xs:ielement name="cellPhone”™ type="xs:string”™ /»
</ x3:schemar

G ] It iz not possible to implement & function of the type proposed.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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QUESTION 6

Which of the following is incorrect with respect to XML?

A. An XML document features high data readability

B. An XML document can be transmitted over general-use protocols such as HTTP and SMTP
C. XML is designed with the ideal structure for storage in an RDB (relational database)

D. Some RDBs (relational databases) can output results data in XML format

Correct Answer: C

QUESTION 7

Which of the following correctly describes a WSDL (WSDL 1.1) definition defining a certain service specification?

<definitions name="Example"
targetlamespace="http:/ xrlmaster .org/example/ wadl"
xmlnz:cna="http://inlmaster.org/ example/ wadl”
xmlnz:xzd="http: /Serwlmaster . org/exanp las/wadh
¥mlns:soap="http://schemas.xmlsoas.org/wadlSscap/ "
¥mlna="http://achemas.xmlsoar. orgf wadl,/ ">
<types>
<achema targetNamespace="http://xmlmwaszer.org/examrle/ <ad™
¥mlns="http:/ vww. w3 . org/ 20017 XML3caema >
<element name="Documwent -
<complexTyper
<Sequence
<element name="Title™ type="stsing™/ />
<element name="Content" type="string™/>
</ zequencer
</oomp lexTypes
</element>
</ schemas>
</ typessr

<message name="ProcessDocumentMessage >
<part name="body" element="x=d:Documenz"/ >
</wessage>

<portType namwe="ExamplePorcType™:>
<operation name="FProcesshocument ">
<input messzage="tns:Procezslocumentlessage™/ >
</operation>
</ portType>

<binding name="ExampleloapBinding™ type="tns:ExamplefFortType™:>
<zoap:binding style="docurent” transpost="http://schemas.xmlaoar.oryg/soap/ htop™s >
<operation name="ProcessDocument >
<Zoap:operation Soaplction=""/s>
<input:>
<zoap:body use="literal" />
</ 1npuc >
</ operation>
</binding>
</definitions>

A. The service operation is a "Request-response” type

B. The service operation is RPC oriented, and either a parameter or return value is included in the SOAP message
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C. HTTP protocol is used to send the SOAP message to the service sideC.HTTP protocol is used to send the SOAP
message to the service side

D. The service side URL (endpoint URL) is specified to send the SOAP messageD.The service side URL (endpoint
URL) is specified to send the SOAP message

Correct Answer: C

QUESTION 8

Which of the following text strings is not output to the results document when performing an XSLT transformation on the
following "XML Document" using the "XSLT Style Sheet" below? Note that the XSLT processor can output
transformation results as a document.

[EML Doocument]
<doc NS1l:title="Title™ xmlns="http://www.Xmlmaster.ory/ exam’
mlnz i N31="http://wuw. xmlraster. org/ exam™>

<kbody Nol:section="value™ xmlns=mrr:
<MN3l:content-Content</MN31:content>
</body>
</ doos

[E3LT 3tvyle Sheet]
<zatylesheet verzion="1.0" xmwlns="http:// wmw. w3 .orgl 1999/ 5L Transform"”
imlng::NS1="http: /fwww. Xmolmaster . org/ exsm™=
<output method="text™ />
<template match="/"x
<apply—templates select="descendant::*/attribute: :N31:% | descendant::N31:%"/ >

</cemplates
<temwplate match="+* | attrikute::*"s<value-of select="name ()" >, < template:

</styleshest:>

A. doc

B. NS1l:title

C. body

D. NS1l:section
E. NS1l:content

Correct Answer: C

QUESTION 9

Assume that the "XML Document” is changed to the "Results XML Document.” Select which XSLT style sheet correctly
performs the transformation. Note that the XSLT processor can output transformation results as a document. [Results
XML Document] Imnop

A.
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[exam.xsl]

B. [exam.xsl]
C. [exam.xsl]
D. D. [exam.xsl]

Correct Answer: A

QUESTION 10

Push the Exhibit Button to load the referenced "XML Document".

[XML Document] (<
<Infinished xmlns='"urn:xmlmaster: TNFINISHED">
<Listc>
<Morker ¥mlns="urn:xmwlmastcer: TOREKER™
Mo —""JTc L L Worhkhiai " -
<hotivity ¥xmlns="urn:xmlmaster:VISIT™
Code="0002 "=
<DateTimer2004-07-01 13 :00</DateTimer
<Location xXmlns="urn:xmlmaster: CONTLCT -
<MName>John Swith</Name:>
<hddresz>31injukn Ward Tokyvo</ Addreass:
</Location>
<Job Proceduse="Install A.r Conditioner™
Time="z"/ >
e R H:F?CCJI‘I'.FLETEDK.-"JLHL L= -
< hotivicys
<hotivicy x¥mlns="urn:xmwlmaster :VISIT™
Code="0003 "=
<DateTime>2004-07-01 16:00</DateTime>
<Location Xwmlns="urn:xmlmaster: CONTLCT:-
<MNeme>Een 1iller</Name:>
<hddress>3iibuyva Ward Tokyo</Aiddreas:>
</Locationsr
<Joh Procedu-e="Clean air conditionerc®
lime=Ts"F>
<Status>TAITING</3tatus>
<fAotivicys
</ Listyr
</ Infinished:

When processing the "XML Document" according to the method shown by "DOM Processing," which of the

following correctly describes the output results (print and/or printin method output)? Although the expected processing
result is choice "A", processing may not occur as expected.

110-002 VCE Dumps | 110-002 Practice Test | 110-002 Study Guide 9/10


https://www.pass2lead.com/i10-002.html
https://www.pass2lead.com/i10-002.html
https://www.pass2lead.com/i10-002.html

P 2L d https://lwww.pass2lead.com/i10-002.html
aSS ea 2023 Latest pass2lead 110-002 PDF and VCE dumps Download

—— https://Pass2Lead.com

[DOM Proces
Process ZML

prrinciML
The wvariabl
The DOM par
Azzume no e

public stat
Node node

=sing)
usiag the folloving method.
| doe |:
e doc here references the Document instarce of the loaded EML Docuamwent.
Ser 13 namespace avare.
¥ECUZlon eErors.

ic wvoid printZMNL( Docwuwment doc )| {
= doc.getElementaBvyTaghamells |
furn:xmlmaster i CONTACT™, "MNewe™) .item (0] :

String name = node.getFirstChild() .getMNodeValue () ;

HNodelListc

for [(int
Element
node =

System.
System.
3ystem.
node =

System.
SJyatem.
System.

nl = doc.getElementsBvyTagNamels ("urn: xmlnaster s VISIT™, "ActCivity™) ;
i = 0; i < nl.getlengeh(); i—+) 4
elem = [Element nl.item(i):
elem. getE lement sBy TaghlameNE |

furn: ¥xmlwaster :VISITY, "DatceTiwe™) .item(0) ;
out.arint ("Not Visited:™)
out.srint (hode.getFirstChild ) .getlodeValue() ) ;
out.arint (™ Worker=" 4+ name) :
elem.getE lementabyTagiamela |

furn:¥mlmaster s CONTACTY, "MNewe™) .item(0)
out _arint (", Wisitc (™)
out.arint (node.getFirstChild ) .getNodeValue (1] ;
out.arintln(™) ™)

A. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=Jeff
Workman, Visit(Ken Miller)

B. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=John
Smith, Visit(Ken Miller)

C. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith)

D. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith)

Correct Answer: B
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